Note: This set of commands will not generate output using the redacted data set, because the redacted data set does not include spinmiss or missvertorspin.  Pages 7-9 of the Cable Survival Paper explain how these variables are created.
1. Open Stata.

2. Command One:  set mem 5m
3. Command two: set mat 800

4.  Open the Stata data set CableSurviveDropUniGala.dta
Parametric models - The following command generates estimates for parametric models without and with unobserved heterogeneity:
xi:pgmhaz lognewage  lognewagesports lognewageshop missingSubs  subsmiss vertmiss spinmiss before1984 missvertorspin, dead(failure) id(netnum) seq(newage)

Note 1: If your copy of Stata does not have pgmhaz, then you will need to obtain the command by clicking on Help, then choosing Seacrh, and then typing in pgmhaz into the box. You will then click on the link to sbe17, and then the link Click Here to Install.

Note 2: The coefficient listed in the paper for ((sports) is a linear combination of  ( and ((sports) and the coefficient listed for ((shop) is a linear combination of  ( and ( and ((shop). The z-statistics, however, still match the z-statistics you obtain in Stata.  I did this because I wanted to show researchers the actual value values of  ((sports) and ((shop).  I kept the z-statistics from the original  regression because those z-statistics demonstrate the statistically significant difference between  ((sports) and ( and ((shop) and (.  
Cox model:

stcox  subsmiss missingSubs vertmiss spinmiss missvertorspin before1984, strata(shop sports) nohr robust
Proportional Hazards model:

xi:pgmhaz i.durat1 missingSubs subsmiss vertmiss spinmiss before1984 missvertorspin if (newage==1|newage==2|newage==3|newage==4|newage==5|newage==6|newage==7|newage==8|
newage==10|newage==12|newage==13|newage==18|newage==19), dead(failure) id(netnum) seq(newage) nocons

To check the fitness of our conditional means procedure, you can execute the first step of the procedure that I outline on Pages 19-20. 
Commands: 

dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==2 & subsmisslag>0 & subsmiss>0), robust

dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==3 & subsmisslag>0 & subsmiss>0), robust
dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==4 & subsmisslag>0 & subsmiss>0), robust
dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==5 & subsmisslag>0 & subsmiss>0), robust

dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==7 & subsmisslag>0 & subsmiss>0), robust

dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==8 & subsmisslag>0 & subsmiss>0), robust
dprobit failure subsmiss missingSubs vertmiss spinmiss missvertorspin before1984 growthrate if (newage==12 & subsmisslag>0 & subsmiss>0), robust
Note: The commands do not generate output for newage=6, 10, 13, and 19.
You will find that the growth rate is statistically significant and negative in only two of these regressions (newage=4 and newage=5), and takes on a small point value even in those cases. In three of these regressions (newage=3, newage=8, and newage=12) , the growth rate takes on positive coefficient values, which is counterintuitive, and one of these positive coefficients is statistically significant (newage=8).  In addition, the baseline marginal hazard in each year is low. I therefore concluded that adjusting for attrition would not generate significantly different growth rates from simply examining the change in the conditional mean from year-to-year. 
In the second stage, we would take the inverse mills ratios from each of the probits and include them in a pooled OLS regression with growth rate as the dependent variable. This regression cannot generate usable results. We perform the pooled regression using only the selected observations, which are those networks that failed. However, we interact all of the network age dummies with all of the inverse mills ratios in this regression, which generates more independent variables than observations, especially because generating the inverse mills ratios for newage=12 leads to a lot of missing results.  Here’s the regression for stage 2: 
xi: reg growthrate i.newage i.newage*invmills2 i.newage*invmills3 i.newage*invmills4 i.newage*invmills5 i.newage*invmills7  i.newage*invmills8 i.newage*invmills12 if failure==1, robust

